
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Expoentes negativos de 10

2 × 10 =2 279 ÷ 10 =(−4)

154, 2 ÷ 10 =(−2) 10 =(−2)

6 × 10 =2 793, 5 ÷ 10 =(−1)

861, 4 × 10 =(−2) 10 =(−1)

9 × 10 =(−4) 331, 9 × 10 =(−4)

−3 × 10 =2 281, 9 ÷ 10 =(−3)

344, 1 × 10 =(−1) 6 × 10 =0

10 =(−4) 5 × 10 =0

8 × 10 = 2 × 10 =(−1)

2 × 10 =(−4) 134, 9 ÷ 10 =(−4)
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Expoentes negativos de 10

2 × 10 = 2002 279 ÷ 10 = 2790000(−4)

154, 2 ÷ 10 = 15420(−2) 10 = 0.01(−2)

6 × 10 = 6002 793, 5 ÷ 10 = 7935(−1)

861, 4 × 10 = 8.614(−2) 10 = 0.1(−1)

9 × 10 = 0.0009(−4) 331, 9 × 10 = 0.03319(−4)

−3 × 10 = −3002 281, 9 ÷ 10 = 281900(−3)

344, 1 × 10 = 34.41(−1) 6 × 10 = 60

10 = 0.0001(−4) 5 × 10 = 50

8 × 10 = 80 2 × 10 = 0.2(−1)

2 × 10 = 0.0002(−4) 134, 9 ÷ 10 = 1349000(−4)
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